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Question 1 [6]

Sipho wants to marry Mubedi but her father insists that he must first pay R15 000
labola. Sipho negotiates with the father to pay the labola over a few years as he is
still searching for a decent job. They agree to the following payments:

Year: 0 1 2 3 4
I I I I I
I I I I
Labola due: R15 000
Payments: R2 000 R5 000 R x R3 000

If money is worth 12% compounded quarterly, determine the value of x.

Question 2 [12]

A borrower is repaying a R550 000 loan at 7.5% per year, compounded monthly, with
monthly payments over 20 years.

2.1  Determine the monthly payment. (3)
2.2 Determine the balance outstanding after the 70t payment. (3)
2.3 Determine the interest contained in the 20t payment. (3)
2.4 Determine the finance charge. (3)
Question 3 [8]

Graph the following inequalities and clearly indicate the feasible region for each question
separately.

3.1 3x+4y<24 (2)

32 2y>x-—4 (2)
x+y <100

33 2x +x33;§ 150 @)

y=0
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Question 4 [3]
For the following word problem, only write down the system of constraints.

A company produces two types of mixers: manual and electric. Each requires in its
manufacture the use of three machines: A, B, and C. Each manual mixer requires the
use of machine A for 4 hours, machine B for 3 hours, and machine C for 1 hour. An
electric mixer requires 1 hour on A, 2 hours on B, and 2 hours on C.

Furthermore, suppose the maximum numbers of hours available per month for the use

of machines A, B, and C are 380, 260, and 200, respectively. The profit on a manual
mixer is $45, and on an electric mixer it is $56.

Question 5 [3]
For the following equation:
2x° +4y3 =16
Determine Z—;.
Question 6 [10]

Differentiate each of the following functions with respect to x. You do not need to
simplify your solution.

6.1 f(x)=x3+7x2+18—+x (2)
6.2 g(x)=In(2x% + 2x — 6) )
63 h(x) =12 (3)
6.4 j(x)=(2x%+2x—6)%.(1—x?)? 3)
Question 7 [3]

A manufacturer determines that m employees will produce a total of g units of a
product per day, where

q = 6m3 — e%2m,
If the total revenue equation for the product is
r =In(q)

determine the marginal-revenue product when m = 3.
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Question 8

Given the following data set:
7 10 9 6 4 7 6
8.1 Determine the mean, mode and median.

8.2 Determine the standard deviation after completing the table below.

i X; X; — mean (x; — mean)?
1. 7
2. 10
3. 9
4, 6
5. 4
6. 7
7. 6
TOTAL

Question 9

Let S be the sample space of a die, and define the following three events on S:

A = {even numbers} B = {odd numbers} C ={3,6}
Draw a Venn diagram to illustrate S, A, B and C.

Question 10

The following box contains 3 triangles, 2 squares and 1 circle:

AYNBV®

[7]

3)
4

[2]

[6]

You draw two shapes from the box at random; first the one and then the second. If

replacement is NOT allowed,

10.1 Draw a complete tree diagram illustrating all possibilities and probabilities. (3)

10.2 Determine the probability of first drawing a circle and then a triangle.

10.3 Determine the probability of drawing two identical shapes.

(1)
(2)
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Question 11 [6]

A few students at UJ filled out an entry form for a competition to win an iPod. Here
are their names and their ages:

Boys Ages Girls | Ages
Nathan 18 Nomsa 18
Marie 19 Francine | 18
Jonathan 22 Delia 23
Mutumi 24 Gracie 27
John 17 Petro 19
David 25 Violet 18
Rafael Morwesi | 25

; Charisa 24

Each student has the same probability of winning, and there can only be one winner.

Given the following events:

E, : A boy wins

E, : An 18-year-old wins

E; : The winner’s name starts with an "N”

E, : A 25-year-old wins
Determine:
11.1 P(E,) (1)
11.2 P(E,) (1)
11.3 P(E,; NE,) (1)
11.4 P(E, N E3) (1)
11.5 P(E; UE,) (2)
Question 12 (Round off to 4 decimal places here) [7]

One of your investments on the Johannesburg Stock Exchange (JSE) is currently
trading around a mean of $10 with a standard deviation of $10.

12.1 Calculate the probability that your stock will trade below $5. (3)

12.2 Calculate the probability that your stock will trade between $13 and $25.50.
(4)
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End of Assessment — Total Marks: 73

ANNEXURE A
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